Bl 3L JE K &
112 2 F E A L3438 4 &

ﬁﬁﬁ

ERN

FHB AR | BT

RAraan) | MBI EZA-Fa

—EERFER-
MUEZRTHAE "M, TRE, B TAEEE 2 4mes - HELABRTF

RS

| MELEFRTAY 2L RMALEEN > FAHOHNRE E1EFEE
w5 ‘

2. BB BT BT HMAES S A RE RSER > BB EEE -

3G HANE R4 40 04 P9 RIFEE -

4 EMEARHPLEBRE (BFH) FEERTR

SHEMERAREEREEE (S8%) T8 -

6. AR XA LT -




TP ERE 112 L EERELIEAEZRRAE

#BEH BHE AffB% 2 F ¥ 1 H
Ry BRIEZ42-Fa
2

1. (20%) A 2 kg pendulum bob moves in the vertical plane, as shown in Figure 1. The gravity is 9.8 m/s”.
(a) If the ball has a speed v =4 m/s at the instant of the lowest point (0 = 0),
determine the tension in the cord at this instant. (10%)

(b) Determine the angle 6 to which the ball swings and momentarily stops. (10%).
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Figure 1

2. (30%) At the instant shown, bar AB has counterclockwise angular velocity of 20 rad/s and a clockwise
angular acceleration of 100 rad/s>.
(a) what are the angular velocity of bar BC and CD? (10%)
(b) what are the angular acceleration of bar BC and CD? (15%)
(c) what are the velocity and acceleration of point E? (5%)
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(25%) The slender rod (Ig = mL? /12) has a mass m = 50 kg and length L= 100 m. If it is released from

rest from the position @ =30 degree, determine its angular acceleration and the horizontal and vertical
components of reaction at the pin O.

Figure 3

(25%) The assembly consists of two 8 kg slender bars (Ic = mL? /12 for each bar) which are pin
connected to the two 10 kg disks (I = mr?/2 for each disk). If the bars are released from rest when &

= 60 degree, determine the velocity of the disk C and the angular velocity of bar AB at the instant 6
= 30 degree. Assume the disks roll without slipping.
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Figure 4




